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DB L AC, Bi%t ff1 2k B AN TE T, B LA PO iL B ABCD J2
.
'5'@ K,
RR AR Y
BRI TFEHPIR BT LUK
F AR 0, FTLAF,| -

(% 158 A)

. o m |Fi| _€0s30° /6
cos45°= | F, | cos30°, i |F,| ~cos45°~ 2
165

BRI K LADC+ LADB=mw, fif Ll cos LADC+

v on o ADHDC-AC?
_0.H o s g g e ip g ADHDC-AC
cos LADB=0, h A% 5% 5E ML . 13 =5 7 5

AD+DB-AB
24D-DB

M AB=3,AC=4,AD=

2 V313 L, % BD=DE=EC=x 1\,

AL x= 3 (Rl ). B Bl BC=5 BBl BA L
ACJHRLL cosC:%.
X CE:%,& AAEC H AT E L A AE=A C*+

V2
CE-24 C-CEcosC=4% % ] -2x4x§—xg—:%,ﬁﬁu AE=
V73
3
W RER

17.88 (DB D(x,y). 0K A(-1,-2),B(3,-1),
€(5,6), i ADC =(5-x,6-y) , AB =(4,1).

FOPAT DU B P R, P4 DC =A R, B S—x=4, H.
6—y=1, fit 15 x=1, H y=5 ST LA T8 D R HRIE(L,5).

(2)A,M,C =53 AEIT R A(-1,-2),
c(s,é),M(s,lo)ﬁ?bwa—c':(é,s),W:@,12)=%ﬁ.

NAC AMATAIEE A FTLLA M, C = I,
18.0% . (DIH Ha=\/3 ,b=\/2 ,B=45°, HIE 5% E
ma V3 _ V2 4. \V/ 3 sind5° _ /3
B A g Psind = v2 2
K 0°<A <180°, Jif LhA =60°, 54 =120°.
44 =60°H] , C=180°-60°-45°=75°,
= +b*-2abcos75°=(\V 3 )+(V 2 )*-2x\V/ 3 x
V6-vV2 _ _Vb6+V2
V2 x 7 =2+V 3 =c= 2 ;

MA=120°H}, C=180°-120°-45°=15°,
c*=a*+b*-2abcos15°=( V'3 )*+(V 2 )*-2xV 3 x
VEHZ VB2
V2 x Z =2-V 3 =¢= 2 .

(D Ha=2,6=2V2 ,C=15°,
FIFLhe*=a*+b?-2abcos15°=2%+(2\/ 2 )*-2x2x2\/ 2 x

VEIVL g 4T VBV T

bc-a _ (22 )(VE -VZ -2 _
2be 222 x(VB -\V2)

@:A =30°, B=180°-30°-15°=135°.

cosAd =

1988 asinB:—stb T TE 35 T, 75 sind sinB=

?BSinH,ﬁ'ﬁ sinB#0, AIr L) sind _T3'

AR AABC A € (0.5 | BBl A=T,

(DHALEI, 1% @=b>+c~2bccosA =2+3-2x2x
3X(:05%=7,FELJ a=\V'7.

() A% E M, 15 azzbz+cz—2bccos%:bz+cz—bc s
LA @2=be 18 b+¢=2be=0, Bl (b—c )=0, LA b=c.

A= BT AABC R .

208 :(1)7E AABC 1 HARZE B, 1 BC=A B+
AC*-2AB+ACcos £ BAC=2*+17-2x1x2xc0s120°=7, fIf L)

~ oy o AC_ BC
BC=NT HIESE R B e = A
ACsin/ BAC _ 1xsinl20° /21

BC = 7 14
(2)TEAABC AR5 BT,
AB4BC-AC?
24B-BC

LA sinZ ABC=

4#47-1 57
2V 71 147

AB 4T
cos/ABC ~ 5

FRLLA DB =22

X £ CAD=120°-90°=30°, fifLL AADC 1 F2 K
;—AI)-AcsinLCA/)=%x¥xleinso°=l—\/§.

215 AR 25t BV, P(=140,2+41),Q(=2+
3t,-142), PQ =(~142t,-3+1).

(1)|PQ |>=(~1420)+(~3+1)*=5¢-101+10

=5(1-1)+5=5.

LY =1 1, | PO | BUASHME /S L 250 1
oI5 | PQ e/, e/ IME V'S

(DBEH P(-1,2),00(-2,-1), B APQs=(~1,-3).

PO L Py , H4P0 - o0y =—(~1420) -3 (-3 +1) =
-5t+10=0, 1% =257 A 214 2 S PQ L Py, .

2208 (DL A HIFE L ABAD FTE HA& 5 3 Hx
By i, SOV T B AR bR R, T 4(0,0),D(0,6),
E(3,0),F(6,2), Ff LLDE =(3,-6), AF =(6,2). 8 %
LEMF % 2 DE , AF W9 f, BT LL cos LEMF=

4 cosLABC=

FrLA#E Rt ADAB ", BD=

DE-AF _ 3x6-6x2 V2
IDE | |AF|  /3+(-6)7 x\/6422 10
ﬁ&AEMFE@%#Z{a%J%.

(2)% M(x,y)JJUJW:(x,y—G),XW:(&—G),
KD //DE LA 3(y-6)+6x=0, Bl 2x+y-6=0. (D
ANAM =(x,y) ,AF=(6,2),AM //AT,

FLL 2x-6y=0, Il x=3y. @
W D, et x= 1 =S gt w18 2.

HBIEEF =(3,2).

TBBLAFAE N PG EF LMP, X5 PAEAB LI,
i’x‘P(a,O)(OsasG),DUJW#a_%’_%)‘
FRLIER TIP3 a- - |-2x §-=0. it a= 22

v [ 22 \ (4 6
FEUP[‘7,0J,W=(7’_7)‘
‘_i‘]z V13

7)) 1

L P |
W5 PAE BC LI, P(6,b)(0<b<6),
itP=| 2 b5 | piiEr 3P =32t 2fb-3 -0,
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=
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BEAT Jy 0 SUAT RN, 2 e B C.

2.D

R IH 5 C BB AB Wy FFUAC 5BC
JBC MG A AC SAB VAT

R AR 1 AB +AC -AP -AQ =(AB -AP )+
(AC-A0 )=PB +(C =013 A.

)45 2a+b AT 3y-x=0 WG LI, A

RBR i a=(2,-1),b=(-1,3),7% 2a+b=(3,1).3%
(%
ol

=g
F_
&
=
=

5B
RBR: WK a=(3,1),b=(2,2), Lk a+b=(5,3),
a-b=(1,-1).

FFE cos(a+h,a-b)="a*b) (a-b)

“la+b[*|a-b]
5x1-3x1 Va7 HOE B

TNERF VI (-1? | 1T
6.C

a+c’-b’
2ac

24022
b e M @b BT A= X C= T

v T 3T g
L B=m - =ik C. y

——
B A EE-

bR RN a=(1,1),b=(3,1),a+b= (% 74A)
(4,2). LU |a+h| =/ 8522 =2\/5 itik D.

8.D
- —> —

BT 191G =3 AD =2 x5 (TB +1C )=

RR: W acosB-beosA =¢, 18 a+ b -

12172 1 1 =
TAB+AC=, W+4#A]\.

— 1 1
y AR ) _ )
B4 MN.G AR BT e =1 BBl A
[ 1 1 5 A 5
du=(A +4u) (74/\ o )=4f+l;—+—2—4 +2

b A9 wp A _3 3.
i ST e L RN DS S S
SR T Ay BTN 5 O D,

= S
9.ABD
$#29%: 4 WAD =2BC , LA AD // BC, H. AD=2BC,

fif L AAED» A CEB, 15 DE -i—&—z,ﬁﬁu AE=

SEBTEC "BC T
26C.FFTE -2EC=0. 4 A T4 7%, 4BE =1 BD'=
L w1 rape =L B 250 Hes

. C §#i%:CE =2 CA'=+- (BT -BC )=3-BA' -+ BC .
e D IEH.503% ABD.

10.BC

BRI ES a'b =23 x2xc0s30°=6. I L)
la+b|*=a’>+2a-b+b*=(2\/3 )+2x6+2°=28, |a-b|’=a’-
2a-b+b’=(2\/3 )-2x6+2>=4,1% |a+b|=2\/7 ,|a-b|=
2 ALA T @, b AR B A7 DU A 6 A 2R G K
BES R 2V T 2.8k BC.

11.AD

BRI h a=(-2,1),b=(k,-3), FF Ll a-2b=(-2-
2k,7). % ¢=(1,2),(a=2b) L, frLl(a=2b) c=-2-2k+
7x2=0, fit 15 k=6.57 A b=(6,-3), |b|=3V5 JFTLL5 b
SRR = 22 ) ik AD.

12.ACD

RBR T A AC,BC
W5 M,N,E$E PM PN, B PA +2PB + A
3PC=0,15PA +PC =—2(PB +PC ),
FTLAPM ==2PN , LA P,M N = & "
Lk, H PR MN FRE S N

g 1 — A
5 MN==— R
“E5Y A MN=-AB, WEFTR , Al ) .
g Seme _ 2ume _ 2PM N
SAPAE - SAPAE - AB (9%12%@@)

—ME(FEZM)BERTE 2 8
aEMN

—— :ZX?x?:%,E& AT 3T BLH ash,

% A>B, JIT LA A5 00 = A0 U — Al B R R 5
AB-BC _ AC-BC 4 57

X C, =- 1% | BC s(7m-B

T C, AT | iC| % BC | cos(m-B)+

‘W‘COSC:O,FELJCOSC:COSB,RB,CE(O,‘IT),F}?LJB:

C,BTLL AABC 3B =Y i C IEH %+ D,

AP JEAABC T L LAPA + P +PC =0, B PA =

PEPC, LA 24P+ P+ 23 PO =0 oo

b-2a=0,
Iﬂ,ﬁg(b—Za)Wﬂ‘ 2\g37 c—2a]P4C'd),FﬁU\ 2/3
3 C

-2a=0,
f#45 b=2a,¢=V'3 a, FTLh d+c’=d+3a’=4a’=b>, fif L) B=
5 BV AABC Ay Y D I ACD.
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RR B EA, 15 (2a+b) -a=2a’+a -b=2x3*+3x4x

cos =245 2a4b 15 @ )T L e Rt 20

lal
24
38

14.06,14]

RBR AR la|-|b|[ < la+b|< |a|+]b]| KR5S
BT 2% AP TT T 24 A 1 5 K G 1 R TR A Y S
BRAUAT 9 B B e K, O 10+44=14(km/h) ; 25 i 5 7K 8
J7 AR, A SEBR AT I B R /N, Ol 10-4=6
Clem/h ) 5 9 SEBRALA T B0 2 B2 A U R (6,14 .
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8= - . e . BC _

RN AL AABC T HIERGER 3 =
AB v . ABSinZBAC 2sin60° /2 .
SinC L) sinC= BC = \/? =5 JILL
C=45°8§, 135°. 3 £ BAC=60°, fit Lk C=45°fiTk B=180°-
45°-60°=75°.H% AD J3 £ BAC W F-434%, B. L BAC=
60°, fir L £ BAD=30°, T LA £ ADB=75°.J)t X B=/ ADB.

JiF Lk AD=AB=2.
11, 13
]G'Ta+?b; 2%
R AR, AE =3 (1010 =5 (2 4B+

! Tb)= (20 Saba2b)
¥ AB=m,AC=n, WFE AABC 1, R4 5% 58 1, 1%
BC’=AB*+A C*-2A B+ A CcosA =m*+n*~-mn=1, It LA m*+n’=
T+mn=2mn, 15 mn<1,4 BALY m=n=1 i}, %5 5 7.

Fﬁuﬁ'ﬁ:%(2a2+5a'b+2b2):%(2mz+%mn+2n,2):
19 v 1 9 13 N e
ﬁ(?mn+2) = ﬁx( ?Xl+2j=ﬁ. ﬁﬁ'u\/\ﬁ AF FI4J
by 13
BRAN 5,

M RS

178 (1)PU5LJE ABCD J2 3500 B A F

K% |AB |=|AB +BC +CD |=|AD'| , i Lk AB=AD.
X YHTE ABCD AT AT, B KL ABCD &
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(2) KATESEATPULIE ABCD % ,G 9 AC 55 BD
WA BTBL Ge=2-ACHY g c
EF & AABC gk, FrLk
EF-L11C. BiLICC-EF W F

2
- =

VIAD -GC -EB =AD -EF -
AE=AD-(AE+EF)=AD AF =
FD A T FD W s

18.8%: (1) B 1, 140C =08 204 =(2a-b)-2(a+
2b)=-5b=xa+yb I Ll x=0,y=-5.

E B
(% 17 4A)

MEB ,BI0C -04"=A(0B -04").

Y OA =a+2b, 08 =2a-b, 0C =xa+yb, {CA L3I
B, 15 (x—1)a+(y-2)b=Aa-3Ab,

FTLA x=1=A, H y=2=-3, f#15 x=1+A ,y=2-3A.

B L wy=(1+4)(2-31)=-3A2-A+2=-3 ( A+% )2+

25 FREL xy MK 35
190 5 D:
(D b+V2 ac=a*+c?, 1% d+c*-b=\/2 ac, JIt VA

a0 N2 ac N2
cosB= = = .
2ac 2ac 2
M Be(0,m),frlL H—Z—.
o m_a b o,
(2) WIESEEM, 13 = oy X A=g,b=

V7 B=T i o= 3
4 sinB
i a’=b2+c2-2bccosA , 15 3=2+¢2-2V/2 c-%,ﬁﬁ%’c
C=7V22— VG(@‘%),E'Z C=7V2;' VA

Ff L AABC () TE R S:%bcsin/\ =%x\/2 X

VIVE V33V
2 -4

2
BRI
(D ERE R, 12 =D Bl asinB=bsind.

Y acosB=bsinA , i) sinB=cosB, 15 tanB=1.

X Be(0,m) Fbl B=7-

QREHDHQ).

208 : (1) AB=h, MR, /£ RUAABC 1 ,AC=

h h

W: V 2 ]l;Tj_: RtAABD l:':‘,/\I)=W=zh.

TEAACD T AR TLE I, 15 AD*=A C+CD*-2AC-
CD-cos £LACD , Hl (2h)*=(\V/2 h)*+4*-2\/2 hx
4c0s60°, i h=V10 V2,8 h=-V10 -V2 (%
=) SR AB=V10 -2 .

e . CB ¢
(IEACBD ISR G e =5/ epD
CDsin £ BDC

msinf3 msinB

sinZ CBD ~ sin(m—a—B) ~ sin(a+B)

FFEIE RtAABC 1,A B=CBtan £ A CB:%.

BFLAE RS AB= msinBtané

" sin(a+B) *

21.(1)fR :irx"ﬁ”qcﬁﬂ'w o W:W—ﬁ:xﬁ+
(y-1)BC ,AP=BP-BA =(x-1)BA +yBC .

{1E 41, 14CD'=B0-BC=5-BA"-BC, AE=BE -

fiFLL CB=

m;_mug—w

A hBA 5BC 4364, CP 5 CD 34 AP SAE 3
X _y-1
2 -4
wrpl S ] BBP-T B B
7_ :L N y:7'
3
(2)IERR : BEIE AABC MK o, 555 (1) A 15
o= teriLtee). (2800 =L Br-
B -CD'=(<-BA'+5-BC |- (5-BA'-BC |= BA
0 o Lpee8 p 10 oo 1 oo
21 BA-BC - 7 BC =21 @ 21 azcoqs 7 @=0.fi )

BP 1CD il BPLCD.
220 ()M, WK a=(1,1),b=(3,1), it A

a=e+e,,b=3e +e,. A Hy 0:%, le.|=le,|=1.07L) e,-e=

%.ﬁﬁu a’b=(e‘+eg)'(3e\+e3)=3e§+4e.-ez+e§=3+4x%+

1=6, |a|=\/T{e+e;)? =\/el+2¢,-es+e3=\/3 . Filh b
. mogpeo, @b 6
Eabﬁhﬁ@?ﬁﬁ/ﬁzjﬂm—\/?iv 3.
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